TER 201

2011 – 2012 Güz

ÖDEV I

Soru 1
Bir Bourdon manometresi ve içinde cıva bulunan (= 13,600 kg/m3) U manometere içi gaz dolu bir tankın basıncını ölçmektedir. Bourdon manometresinin ölçtüğü basınç değeri 85 kPa olduğuna göre h (mm) değerini hesaplayınız.    

Navigate to HOME. Daemons. Basics. Pressure. 

Follow the "Tracing Method" algorithm.

[image: image90.emf]
From Bourdon Gage[image: image2.png]


 

[image: image3.png]pp=85000+p,,,




Now the rest is simple algebra. 

Soru 2. 

Düşey sürtünmesiz bir piston silindir mekanizmasının içinde gaz vardır. Pistonun ağırlığı 10 kg ve kesit alanı 20 cm2 olup 100 N kuvvet ile çekilmektedir. Atmosfer basıncı 100 kPa olduğuna göre silindir içindeki basıncını bulunuz. Silindir hacmi 0.1 m3 artarsa yapılan işi hesaplayınız. 
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[image: image4.png]Fig, 1. Piston cylinder device.




Navigate to HOME.Daemons.Basics.Pressure. 

Follow the instructions on the Free Body Diagram. 

From the free body diagram:
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Even as the gas expands, the pressure remain unchanged as the force balance on the piston does not change during the expansion process. The boundary work is simply the area of the rectangle under the p-V diagram = 98.1*0.1 kJ = 9.81 kJ. 

Soru 3. 
Yerel yerçekimi ivmesinin 9.79 m/s2 olduğu bir yerde 5 kg kütlesindeki bir kaya yukarı doğru fırlatılmaktadır. Kayanın ivmelenmesini hesaplayınız.

	1B-2:
	Mass, Force and Acceleration
	4 pts

	
	
	
	
	
	
	
	

	A 5 kg rock is thrown upward with a force of 150 N at a location where the local gravitational acceleration is 9.79 m/s2. Determine the acceleration of the rock in m/s2.

	

	
	
	
	
	
	
	
	

	Read :
	The key here is to recognize that two forces are acting on the rock: the 150 N and the weight of the rock (due to gravity).  Then, the problem becomes an application of Newton's 1st Law of Motion.

	
	

	
	

	
	
	
	
	
	
	
	

	Given :
	m
	5
	kg
	
	
	
	

	
	Fthrow
	150
	N
	
	
	
	

	
	g
	9.79
	m/s2
	
	
	
	

	
	
	
	
	
	
	
	

	Find :
	a
	???
	m/s2
	
	
	
	

	
	
	
	
	
	
	
	

	Solution :
	The key equation here is Newton's 1st Law of Motion :
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	Eqn 1

	
	
	
	
	
	
	

	
	We can solve Eqn 1 for the rate at which the rock accelerates :
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	Eqn 2

	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	We know that :
	
	
	gC
	1
	kg-m/N-s2
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	So, all we need to is determine the net force acting on the stone.
	
	

	
	
	
	

	
	A free-body diagram might be helpful.
	
	

	
	
	
	
	
	
	

	
	The net force acting on the rock in the upward direction is :
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	Eqn 3
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	We can apply Newton's 1st Law of
 Motion again to evaluate Fwt.
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	Eqn 4

	
	
	
	
	
	
	

	
	We can solve Eqn 4 for Fwt, as follows :
	
	Eqn 5

	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	Plugging values into Eqn 5, then Eqn 3 and, finally, Eqn 2 yields :
	
	
	

	
	
	Fwt
	49.0
	N

	
	
	
	
	
	Fnet
	101.05
	N

	
	
	
	
	
	a
	20.21
	m/s2

	
	
	
	
	
	
	
	

	Answers :
	a
	20.2
	m/s2
	
	
	
	


Soru 4.

Yatay ve 2 m çapındaki bir kapak su tankının tabanına yerleştirilmiştir. Kapağı kaldırmak için gerekli ilave kuvveti hesaplayınız. Patm = 100 kPa, g = 9.807 m/s2 alınız.
	1B-8 : 
	Force Required to Lift an Underwater Gate
	5 pts

	
	
	
	
	
	
	
	

	A horizontal 2 m diameter man-hole is located in the bottom of a water tank as shown here.  Determine the extra upward force, F, that a man or machine must exert on the man-hole cover to just barely lift it.
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	Read :
	The key to this problem is to recognize that the TOTAL force required to just barely lift the man-hole cover is equal to the force exerted on the top surface of the man-hole cover by both the atmosphere and the water.  This force is equal to the absolute pressure at the bottom of the tank times the area of the man-hole cover.  The force a man or machine would need to exert in order to lift the man-hole cover is less because atmospheric pressure is also acting on the outer or bottom surface of the man-hole cover.

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	
	
	
	
	
	
	

	Given :
	
	D
	2
	m
	
	
	

	
	
	h
	5
	m
	
	
	

	
	
	g
	9.8066
	m/s2
	
	
	

	
	
	gc
	1
	kg-m/N-s2
	
	

	
	
	
	
	
	
	
	

	Assumptions :
	Patm
	100
	kPa
	
	
	

	
	
	rH2O
	1000
	kg/m3
	
	
	

	
	
	
	
	
	
	
	

	Solution :
	The total force required to just barely lift the man-hole cover is:
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	Eqn 1

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	The gate is circular, so :
	[image: image14.png]



	
	Eqn 2

	
	
	
	
	
	
	
	

	
	Plug values into Eqn 2 :
	
	Agate
	3.142
	m2

	
	
	
	
	
	
	
	

	
	Next, we can use the Barometer Equation to determine the pressure at the bottom of the tank.
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	Eqn 3

	
	
	
	
	
	
	
	

	
	
	
	
	
	Pbottom
	149
	kPa

	
	
	
	
	
	
	
	

	
	Finally, we substitute values into
Eqn 1 to answer the question :
	
	
	

	
	
	F
	468
	kN

	
	
	
	
	
	
	
	

	
	This is the total force required to lift the man-hole cover.  But atmospheric pressure is also acting on the outside or bottom surface of the manhole cover as well.  So, since we want to determine how much additional force must be applied in order to lift the man-hole cover, we must subtract the upward force attributable to atmospheric pressure below the cover.
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	Eqn 4
	
	F
	314
	kN

	
	
	
	
	
	
	
	

	
	The additional force that must be exerted to lift the man-hole cover is the difference between the total force required and the force exerted by the atmosphere.
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	Eqn 5
	
	F
	154
	kN

	
	
	
	
	
	
	
	

	
	If the door had a hinge, the problem would be a bit more challenging because it would involve the computation of torques acting around the axis of the hinge. Torques and lever arms are not part of this thermodynamics course.

	
	


Soru 5.

10(C sıcaklık farkını Kelvin, Rankine ve Fahrenheit biriminde yazınız.

The Unit Daemon is almost self explanatory. Choose "Temperature Difference" in the central window. The units of temperatures appear on the left and right lists. Choose degree Celsius on the left and the desired unit on the right. Input 10 in the yellow field. The answers, 10 for Kelvin, 18 for Rankin and 18 for Fahrenheit, show up on the right.
Soru 6. 

Bir binanın yüksekliğini ölçmek için basit bir manometre kullanılmaktadır. Binanın en üstünde basınç 730 mmHg, en altında ise 755 mmHg dır. Binanın yüksekliğini bulunuz. Havanın yoğunluğu 1.18 kg/m3, cıvanın yoğunluğu 13,600 kg/m3 dür.

Atmospheric pressures at the top and at the bottom of the building are
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Taking an air column between the top and the bottom of the building and writing a force balance per unit base area, we obtain
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It yields

h = 288.6 m
which is also the height of the building.

Soru 7.

Balonlar genellikle helyum gazı ile doldurulur. Aynı şartlar altında helyumun ağırlığı havanın ağırlığının yedide biridir. Fb = (hava g Vbalon eşitliği ile hesaplanan yer çekimi kuvveti balonun yukarı hareketini sağlar. Balonun çapı 10 m ise her biri 70 kg olan iki kişi taşıyabilir. Balon durağan halden harekete geçtiğinde ulaştığı ivmeyi hesaplayınız. Havanın yoğunluğu 1.16 kg/m3 dür. Balon kabini ve iplerinin ağırlığını ihmal edin.

The buoyancy force acting on the balloon is
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The total mass is
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The total weight is
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Thus the net force acting on the balloon is
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Then the acceleration becomes
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Soru 8.

10 m yüksekliğindeki silindir tankın alt yarısı su ((su = 1000 kg/m3) doludur. Üst yarısı ise yoğunluğu 850 kg/m3 olan yağ ile doludur. Silindir altı ve üstü arasındaki basınç farkını hesaplayın.

The density of the oil is obtained by multiplying its specific gravity by the density of water which is given to be 1000 kg/m3,
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The pressure difference between the top and the bottom of the cylinder is the sum of the pressure differences across the two fluids,
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Soru 9.

240 m3/s sabit debili bir nehir üzerinde hidroelektrik santrali kurulacaktır. Baraj yüksekliği 50 m dir. Barajda üretilecek enerjinin gücünü hesaplayın.

Soru 10.

Küçük bir elektrik motoru 10 W mekanik güç üretmektedir. Bu güç değerini a) N, m ve s birimlerinde, b) kg, m ve s birimlerinde yazınız.

Soru 11.

Düz bir yolda 800 kg kütlesindeki arabanın durgun halden 100 km/h hıza ulaşması için gereken enerjiyi hesaplayınız. 

[image: image27.jpg]3-17 A river flowing steadily at a rate of 240 m*/s is con-
sidered for hydroelectric power generation. It is determined
that a dam can be built to collect water and release it from an
elevation difference of 50 m 10 generate power. Determine
how much power can be generated from this river water after
the dam is filled.
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3-31 Determine the energy required to accelerate an 800-kg
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Soru 12.

2000 kg kütlesindeki arabanın yatayla 30( eğimli bir yolda 10 saniyede 100 m tırmanması için 

a) Sabit hızda

b) İlk hız 0 m/s, son hız 30 m/s olması halinde

c) İlk hız 35 m/s, son hız 5 m/s olması halinde

gerekli güç ne kadardır. 

[image: image28.jpg]3-33 A man whose mass is 100 kg pushes a cart whose
mass, including its contents, is 100 kg up a ramp that is
inclined at an angle of 20° from the horizontal. The local
gravitational acceleration is 9.8 m/s”, Determine the work, in
kJ, needed to move along this ramp a distance of 100 m con-
sidering (a) the man and (b) the cart and its contents as the
system.
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a final velocity of 30 m/s, and (¢) from 35 m/s to a final
velocity of § m/s. Disregard friction, air drag, and rolling
resistance. Answers: (a) 98.1 kW, (b) 188 kW, (¢} ~21.9 kW
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Soru 13.

5 cm derinliğindeki su 98(C kaynamaktadır. 40 cm derinliğindeki su hangi sıcaklıkta kaynar.

[image: image85.bmp]The pressure at the bottom of the 5-cm pan is the saturation pressure corresponding to the boiling temperature of 98(C:
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The pressure difference between the bottoms of two pans is
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Then the pressure at the bottom of the 40-cm deep pan is


P = 94.63 + 3.43 = 98.06 kPa

Then the boiling temperature becomes
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Soru 14 Su için aşağıdaki tabloyu tamamlayınız. 
	T,  (C
	P,  kPa
	v,  m3 / kg
	Faz Açıklaması

	50
	
	4.16
	

	
	200
	
	Doymuş buhar

	250
	400
	
	

	110
	600
	
	


	T,  (C
	P,  kPa
	h,  kJ / kg
	x
	Faz Açıklaması

	
	325
	
	0.4
	

	160
	
	1682
	
	

	
	950
	
	0.0
	

	80
	500
	
	
	

	
	800
	3161.7
	
	


Tablo A4, A5, A6 yardımı ile
	T,  (C
	P,  kPa
	v,  m3 / kg
	Faz Açıklaması

	50
	12.352
	4.16
	Doymuş sıvı buhar karışımı

	120.21
	200
	0.88578
	Doymuş buhar

	250
	400
	0.59520
	Kızgın buhar

	110
	600
	0.001052
	Sıkıştırılmış sıvı


	T,  (C
	P,  kPa
	h,  kJ / kg
	x
	Faz Açıklaması

	136.27
	325
	1435.35
	0.4
	Doymuş sıvı buhar karışımı

	160
	618.23
	1682
	0.483
	Doymuş sıvı buhar karışımı

	177.66
	950
	752.74
	0.0
	Doymuş sıvı

	80
	500
	335.02
	- - -
	Sıkıştırılmış sıvı

	350
	800
	3162.2
	- - -
	Kızgın buhar


Soru 15 R 134a için aşağıdaki tabloyu tamamlayınız. 

	T,  (C
	P,  kPa
	h,  kJ / kg
	x
	Faz açıklaması

	
	240
	81
	
	

	4
	
	
	0.27
	

	-20
	500
	
	
	

	
	1400
	362
	
	

	20
	
	
	1.0
	


Tablo A11, A12, A13 yardımı ile
	T,  (C
	P,  kPa
	h,  kJ / kg
	x
	Faz açıklaması

	-5.38
	240
	81
	0.179
	Doymuş sıvı buhar karışımı

	4
	337.90
	110.03
	0.27
	Doymuş sıvı buhar karışımı

	-20
	500
	25.49
	- - -
	Sıkıştırılmış sıvı

	130
	1400
	363.02
	- - -
	Kızgın buhar

	20
	572.07
	261.59
	1.0
	Doymuş buhar


Soru 16.

Piston silindirden oluşan sistem 0.1 m3 hacminde sıvı su içermektedir ve 0.9 m3 su buharı ile 800 kPa da dengedir. Sıcaklık 350(C olana kadar sabit basınçta ısı transferi olmaktadır. 

a) Suyun başlangıç sıcaklığı nedir.

b) Suyun toplam kütlesini bulunuz.

c) Son hacmi hesaplayınız.

d) Doyma eğrilerini göstererek işlemi P – v digagramında gösteriniz.

 (a) Initially two phases coexist in equilibrium, thus we have a saturated liquid-vapor mixture. Then the temperature in the tank must be the saturation temperature at the specified pressure,
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(Table A-5)

(b) The total mass in this case can easily be determined by adding the mass of each phase,

[image: image86.png]74X PuA

Yy ly
k)

pA4

Figure 2. Free body diagram of the piston.
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(c) At the final state water is superheated vapor, and its specific volume is
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(Table A-6)

Then,
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Soru 17

İdeal gaz düşük basınca kısıldığında aşağıdakilerden hangisi gerçekleşir.

a) Gazın sıcaklığı artar.

b) Gazın sıcaklığı azalır.

c) Gazın sıcaklığı sabit kalır.

Neden?

An ideal gas is throttled to a lower pressure. During this process, (select the

correct statement)

 (a) the temperature of the gas will increase.

(b) the temperature of the gas will decrease.

(c) the temperature of the gas will remain constant.

(d) the entropy of the gas will decrease.

(e) the enthalpy of the gas will decrease.

Answer: For a throttling process, h remains constant – so the temperature remains

constant (correct answer (c)). Recall for ideal gases h(T).
Soru 18

Bir mükemmel gaz işlemi Pvk = sabit eşitliğine göre gerçekleşmektedir. Aşağıdakilerden hangisi doğrudur. (k=cp/cv)
a) Sıkıştırılamaz işlem

b) Sabit basınç işlemi

c) Adyabatik işlem

d) İzentropik işlem

e) Sabit sıcaklık işlemi
(2) (3 points) An ideal gas process for which P vk = constant, where k=cp/cv is an (select

the correct answer(s))

(a) incompressible process (b) isobaric process (c) adiabatic process

(d) isentropic process (e) isothermal process

Answer: The correct answers are (c,d)
Soru 19

Verilen bir halde su buharının sıcaklığı 400(C, özgül hacmi 0.02 m3/kg’dır. Su buharının bu haldeki basıncını,

a. mükemmel gaz hal denklemini kullanarak,

b. genelleştirilmiş sıkıştırılabilme diyagramını kullanarak,

c. su buharı tablolarını kullanarak bulun.

The gas constant, the critical pressure, and the critical temperature of water are, from Table A-1,
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(a) From the ideal gas equation of state,
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(b) From the compressibility chart (Fig. A-30a),
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Thus,
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(c) From the superheated steam table (Table A-6),
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Soru 20. 

Sürtünmesiz bir piston silindir sistemi 100 kPa basınç ve 300 K sıcaklıkta 2 kg azot içermektedir. Azot, PV1.4 = sabit hal değişim eşitliğine göre son sıcaklığı 360 K oluncaya kadar sıkıştırılmaktadır. Bu işlem sırasında yapılan işi hesaplayınız. 

[image: image41.emf]
Nitrogen at specified conditions can be treated as an ideal gas.  Then the

[image: image88.emf]boundary work for this polytropic process can be determined from Eq. 3-12,
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Soru 21.

Bir gaz için hal değişiminin yolu [image: image44.png]


 (burada P (kPa), [image: image46.png]


 (m3/kg)) eşitiği ile verilmiştir. 0.5 mol miktarındaki gaz 300 K sabit sıcaklıkta sanki dengeli olarak 2 m3 den 5 m3 e genişletilmektedir. 

a) Eşitlikteki 10 sayısının birimini nedir.

b) Sabit sıcaklıkta genleşme işlemi sırasında yapılan işi hesaplayın.

(a) The term 
[image: image47.wmf]10
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 must have pressure units since it is added to P.

[image: image89.emf]Thus the quantity 10 must have the unit kPa(m6/kmol2.

(b) The boundary work for this process can be determined from
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and
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Soru 22.

İyi yalıtılmış bir piston silindir sistemi 150 kPa sabit basınçta 5 L doymuş sıvı su içermektedir. Su bir pervane ile karıştırılırken su içine yerleştirilmiş bir dirençten 45 dakika süreyle 8 A akım geçmektedir. Bu sabit basınç işleminde sıvının yarısı buharlaşırsa elektrik kaynağının gerilimini hesaplayınız. Pervane işi 400 kJ dür. Hal değişimini doyma eğrileri ile birlikte P – v diyagramında gösteriniz.

We take the water in the piston-cylinder device as our system. This is a closed system since no mass enters or leaves.  The conservation of energy equation for this case reduces to
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since P = constant and (U + Wb = (H for constant pressure quasi-equilibrium

processes.
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Substituting,
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[image: image53.emf]
We take the water in the tank as our system. This is a closed system since no mass enters or leaves.
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The conservation of energy equation for this case reduces to
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Substituting,
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Soru 23.

Bir piston silindir düzeneği başlangıçta 200 kPa basınçta, 200(C sıcaklıkta ve 0.5m3 hacminde buhar içermektedir. Bu halde iken lineer bir yay pistona dokunmakta fakat pistona kuvvet uygulamamaktadır. Buhar yavaşça ısı geçişi olmakta, basıncın       500 kPa, hacmin 0.6 m3 değerine artmasına sebep olmaktadır. Hal değişimi doyma eğrilerinin de yer aldığı P – v diyagramında gösteriniz. 

a) Son sıcaklığı,

b) Buharın yaptığı işi,

c) Toplam ısı geçiş değerini hesaplayınız.

(a) We take the steam in the piston-cylinder device as our system.  This is a closed system since no mass enters or leaves.
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(b) The pressure of the gas changes linearly with the gas, and thus the process curve on a P-V diagram will be a straight line. The boundary work during this process is simply the area under the process curve, which is a

trapezoidal. Thus,
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(c) The conservation of energy equation for this case reduces to
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Substituting,


Q = (0.463 kg)(4321.9 - 2654.4)kJ/kg + 35 kJ = 772 kJ
[image: image60.emf]
At specified conditions air can be treated as an ideal gas.  We take the air in the room as our system. Assuming the room is well-sealed and no air leaks out, we have a constant volume closed system. The conservation of energy equation for this case reduces to
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or,
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The mass of air is
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Using Cv value at room temperature from Table A-2a ,
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The negative sign indicates electrical work is done on the system.

Soru 24.

4 m x 6 m x 6m boyutlarında bir yurt odasında yaşayan bir öğrenci bir yaz günü odadan çıkarken 150 W gücündeki fanı çalıştırmaktadır. Böylece öğleden sonra geldiğinde odayı serin bulmayı ummaktadır. Odanın kapı ve camlarının sızdırmaz şekilde kapalı olduğunu ve duvarlardan ve pencerelerden ısı geçişi olmadığını kabul ederek öğrenci odayı terk ettikten 10 saat sonra odanın sıcaklığını bulunuz. Öğrenci odayı terk ettiğinde basınç 100 kPa, sıcaklık 15(C dir. Oda sıcaklığındaki özgül ısı değerlerini kullanınız.

At specified conditions air can be treated as an ideal gas.  We take the air in the room as our system. Assuming the room is well-sealed and no air leaks out, we have a constant volume closed system.  The conservation of energy equation for this case reduces to
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The mass of air is
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The electrical work done by the fan is
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Substituting and using Cv value at room temperature from Table A-2a,


- (-5400 kJ) = (174.2 kg)(0.718 kJ/kg(C)(T2 - 15)(C




T2 = 58.2(C
[image: image68.emf]
We take the entire tank as our system. This is a constant volume closed system since no mass enters or leaves the system.  The conservation of energy equation for this ideal gas reduces to
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Thus,


T2 = T1 = 50(C
and
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[image: image71.emf]
At specified conditions air can be treated as an ideal gas.  We take the air in the piston-cylinder device as our system.  This is a closed system since no mass enters or leaves.  The conservation of energy equation for this case reduces to
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or
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since (U + Wb = (H for constant pressure quasi-equilibrium expansion or compression

processes.  From Table A-18,
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Substituting,



We = -(15 kg)(350.49 - 298.18)kJ/kg + (-60 kJ) = -844.7 kJ

or,
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[image: image76.emf]
 (a) The pressure of the gas changes linearly with volume during this process, and thus the process curve on a P-V diagram will be a straight line.  Then the boundary work during this process is simply the area under the process curve, which is a trapezoidal. Thus,
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(b) If there were no spring, we would have a constant pressure

process at P = 200 kPa. The work done during this process is
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Soru 25.

Bir piston silindir düzeneğinde başlangıçta 150 kPa, 20(C ve 0.5 m3 helyum bulunmaktadır. Helyum politropik ([image: image81.png]


hal değişimi ile 400 kPa, 140C e sıkıştırılmaktadır. Bu hal değişimi sırasında meydana gelen ısı kazancı veya kaybını hesaplayın.

Helium at specified conditions can be treated as an ideal gas.  The mass of helium and the exponent n are determined from
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Then the boundary work for this polytropic process can be determined from
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We take the helium in the piston-cylinder device as our system. This is a closed system since no mass enters or leaves. The conservation of energy equation for this closed system reduces to
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or ,




Q = mCv(T2 - T1) + Wb
Using Cv value from Table A-2a,


Q = (0.123 kg)(3.1156 kJ/kg·K)(413 - 293)K + (-57.2 kJ) = -11.2 kJ
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